38. (1) Suppose that you are standing on a train accelerating at 0.20g. What minimum coefficient of static
friction must exist between your feet and the floor if you are not to slide?

44. (1) Drag-race tires in contact with an asphalt surface have a very high coefficient of static friction.

Assuming a constant acceleration and no slipping of tires, estimate.the coefficient of static frigtion needed
for a drag racer to cover i g

Kinetic friction is 0.20 and the push imparts an initial speed of 4.0ms— % —
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